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The figures in the margin indicate full marks
- for the questions

the

correct answer from
1x5=5

1. Choose the
following *

(@ Two allelic
(i) any tWo chromosomes
(i) two non-homologous chromosomes
(iii) two homologous chromosomes
(iv) same chromosomes
Chromosomal theory of inheritance was
proposed by
(i) Sutton in 1902
(ii) Boveri in 1902
(iii) Correns in 1909
and Boveri in 1902
( Turn Over )

genes are situated on

(v)

(iv) Sutton

KB23 / 463




(3)

soma] m g 1s not

. utation a type of

() Duplicatiog, ? (c) Linkage and crossing-over of gene are
alternative to each other. Justify with

the help of an example.

(d) Write different types of mutation. Give
two examples of chemical mutagen.

(ll} InVerSion
(iii) Deleti()n
(iv) Fr

ame shif;
t
(e) Differentiate petween autopolyploidy

and allopolyploidy-

.ﬁ/ deletion _
i
(‘( Y transition 3. Answerany five of the following questions :
il | 5x5=25
(iv) i ot (a) Define transposable element. Write the
( ersion hanism of DNA repair i
e} 9 : 7 ‘ mec P pI‘OCE:SS in
ratio in B e plant.
(i i eration i
“) incomplete qog represents (b) What is extranuclear inheritance?
(8 eodontimdl inance Jain the plastid inheritance pattern
(if)) epistas; ;- . Mirabilis jalap@ plant.
sis
(c) Write2 note on numerical chromosomal
abberation:

complementary gene

(iv} All
of the above
(d) What 1s
Explain  Bateson and

2. An
SWer t}l
e followi
: n :
(@) Differengias g questions : 2x5<10 interaction?
ominay, e bitben ) ‘ punnett experiment on sweet pea plant
B W €e and cod ncompleti arding complementary gen
hat ominance. reg 5
inheri do  you interaction- Give their phenotypic and
P tanCe? 5 mean b 1 . : 2
traits in ) Give exam y, (POVECRIC genotypic ratio.
KB23/463 gt Ples of polygente Write the tyPes of DNA. Write and draw
e ;
(€ the Watson and Crick DNA model
( Continued ) diagram with their characteristic.
Turn O
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(9)

(b)

(c)

(4)

Define genetic drift. Write a concise note
on genetic variation.

Write the principle of Hardy-Weinberg
law. Which of essential conditiong is
required for a Population to pe in the
Hardy-Weinberg equilibrium?

2+4+4=10
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